Cluestion 12
The sl of cquations

O.50005 4 033383 + 0.25002 = 1,004,
(.33 + 0.2500y + 0.2000 = 1.000.
(L2500 + 0.35000y + 0.16672 = 1.000

is solved by using the Ganssian elimination method with imly essential row inter-
changes and four significant figure arithmetic. The solution is

=1, g = —5%160, ¢ = 5658,
Tlzing Ganssian elimination mwethod with partial pevotimg the solution is
= NLGl, pe= <565, *=55.63

The numbers on the right hand sides of the thres eeguativms are cliaged e 1,007,
04999 andd L0 respectively and the equations are re-solved. Using Gassian elin-
wabion with oudy issentbial row interchanges 1l solution is

r=110M, y=—502, o= 50,5,

wherens using Gaussian olimination with partial pivotiog the solution is
F= 11 r= =500, 2= 5T,

Clhose the cpaon which best deseribes the problem.

{hrtioms

A The problem s illsconditioned.

The problem s wellcomditioned et the metlod of Gaassian climination with
essentinl row Interchaniges results moipdueed instability for this problem

@ The problem is well-conditioned amd the method of Ganssian climination with
LV ezsential row interchanges is stable for this problem.

LUlnit 12

Cuestion 13
r-\lr " wih |

The water tnoan msulaved hot-water tank of capacity 50 Hiees i Beated Dy o 2EW ‘__:;{,I’__l @0 =T &
electric immersion heater; The water in the tank iz initially st & temperature of

10, Choose the opdion whoch = nearest fo the temperature of the waler in the

ik 1 e after the heater hag been switched o, {You should assmme that, all

the clectrical enerpy supplied goes to heating the water. The diénsity of wager. is

b leg Indes U oard thes specific head of water 15 420000 kg R, R e
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